Aim:  Should we trade with each other?

Topic:  Comparative Advantage, Specialization and Trade

Introduction:  Comparative Advantage

Output problems:  outputs are production units over a given time.   (example:   tons per acre, miles per gallon, bushels, words per minute, apples per tree, televisions per hour)

This is calculated by:  activity given up over activity doing
Input problem:   inputs necessary to do an activity (example:  time)

This is calculated by:   activity doing over activity given up.

Task:  Do activity 49
Document #1:   Introduction:  Why do nations trade?
Nations trade in order to get beyond their production possibilities curve.  

When nations figure out which one has a comparative advantage in producing a product, they specialize in the product they have a comparative advantage for and trade for the product they do not have a comparative advantage for.   When nations specialize, they only concentrate on making that product, and trading the product they make for another product.    
Terms of Trade:   Terms of trade is the exchange rate between two commodities.  For example, trading two bananas for 30 grapes.  The terms of trade is expressed in terms of the commodities to be exchanged.   For each country there is a range of acceptable terms of trade which is based on their opportunity costs and comparative advantages.  Countries will trade based on their mutual opportunity costs of their products (they won’t want to trade for more than the opportunity cost of producing a product).     

The gains from trade are the additional amount of commodities a country has after specialization and trade in comparison with the combination before specialization and trade.   For example, a country may gain five bananas relative to the total amount of bananas it had when producing only with its own resources.

1)      What is specialization?    How is it determined?   Why do countries do this?

2)  What are terms of trade?   What are the terms of trade based on?

3)  What are the gains from trade?  
Part two:   How Opportunity Cost determines specialization and acceptable terms of trade


Example:   

The United States and Israel are trading.   
This is the results after one day of work:   

	Country
	Bushels of Oranges
	Bushels of Avocadoes

	United States
	75 bushels
	150  bushels

	Israel
	100 bushels
	400 bushels


1) Which country has the absolute advantage in producing oranges?
2) Which country has the absolute advantage in producing avocadoes?
	Country
	Opportunity Cost of  1 bushel of Oranges
	Opportunity Cost of 1 bushel of Avocadoes

	United States
	
	

	Israel
	
	


3) Which country has the comparative advantage of producing oranges?
4)  Which country has the comparative advantage of producing avocadoes?

5)  What should each country specialize in?   

6)  Who should export oranges and import avocadoes?   Why?  
7)  Who should export avocadoes and import oranges?  Why?   

Now that we know who should trade oranges for avocadoes and avocadoes for oranges, what is the acceptable terms of trade?   

The answer will be:    
United States is willing to trade 1 orange bushel for more than two bushels of avocadoes.   

Israel would be willing to trade one bushel of oranges for less than 4 bushels of avocadoes.  

The answer will be U.S. sends one orange for more than 2, but less than 4 bushels of avocados.  Or Israel sends less 4, but more than 2 bushels of avocados for 1 orange.   
Israel sends 2-4 bushels of avocadoes for one orange.*  

Remember:  terms of Trade have to be within comparative advantages – let’s see why::  

Let’s look at the American perspective and from the perspective of oranges for avocadoes (since those are whole numbers and easier to work with).   

The U.S. should produce oranges because it has the least opportunity cost.   If the U.S. specializes in oranges that means it won’t be producing avocadoes.   So, if it is going to give up avocadoes it will want at least 2 avocadoes because that is what it can normally produce on its own.  It will not want to trade for less because that would be less than it can produce on its own, so why bother trading.

However, Israel would not want to send more than 4 avocadoes because that is above Israel’s opportunity cost for producing avocadoes – if the U.S. wants 5 avocadoes, Israel may as well just make the avocadoes itself since it is giving up more than its opportunity cost by trading.   

*So, the two will agree to trade anywhere between one orange for 2<bushels of avocados<4*
(terms of trade are always inside the range of the opportunity costs.  :   it can’t go outside of the opportunity costs (countries wouldn’t want to trade past or below a certain point if it no longer becomes conducive to trade).  

*There is a wide range of solutions depending on the agreed-to terms of trade and the willingness to trade specific amounts of the commodities.   

1)  Why will the U.S. not want to trade one orange for 2 or less avocadoes?

2)   Why will Israel not want to trade 4 or more avocadoes for one orange?

3)   Why would the two countries agree to trade one orange for a number between 2-4 avocadoes?   
Part 3:  So how do both countries gain from the trade and how does this achieve a point outside the production possibilities curve?

Let’s say before trade, on America’s Production Possibilities Curve, it was able to produce 50 bushels of oranges and 50 bushels of avocadoes (point A).  Also before the trade and specialization, on Israel’s Production Possibilities Curve, Israel was able to produce 25 oranges and 300 avocadoes (point B).    

However, after specialization, America will specialize in producing oranges, therefore producing 75 oranges and 0 avocadoes per day.  Israel will now specialize in avocadoes, producing 400 avocadoes and 0 oranges per day.  Let’s take a look at how trading based on specialization helped the two countries get past their production possibilities frontier!
1)  Let’s keep the terms of trade as 1 bushel of oranges being sent to Israel from the U.S. in exchange Israel sending 3 bushels of avocadoes.  

2)  Now, America doesn’t want to be orangeless, and Israel doesn’t want to be avocadoeless, so they will each specialize, and trade for each others’ product
3)  Let’s say before trade, America produced 50 bushels of oranges and the United States wants to continue to have 50 bushels of oranges 

4)  Now, America will begin to Specialize in oranges, producing 75 oranges, and since it wants to keep 50 oranges, (and the terms of trade are one bushel of oranges for three bushels of avocadoes) it can send 25 of them to Israel, therefore still keeping its 50 bushels of oranges.  
5)  Israel’s job is to specialize in avocadoes.  If the terms of trade are 1 bushel of oranges to 3 bushels of avocadoes, this means Israel needs to send America 75 avocadoes for the 25 oranges Israel is getting.   

6)Let’s look at how America moved beyond it’s production possibilities’ curve: 

Note that this NEW combination – 50 bushels of oranges and 75 bushels of avocadoes – puts the United States outside its production possibilities curve (point A to A’).
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7)  Let’s look at Israel.  Israel is specializing in avocadoes and will produce 400 avocadoes and 0 oranges.  Israel will send 75 avocadoes to America, and in exchange get 25 oranges.   This still puts Israel outside its production possibilities curve, because now it has 325 avocadoes AND 25 oranges!  

8)  The gains from trade would be 25 bushels of avocadoes for America (since before trade at 50 oranges it was only producing 50 avocadoes); and 25 bushels of avocadoes for Israel (since at 25 oranges before trade it only had 300 avocadoes) and both countries moved beyond their PPC’s! Yay for trade! 
1)  Why are the terms of trade 1 orange for 3 avocadoes?

2)  If America specializes in oranges how many oranges is it producing?   Avocadoes?

3)  If Israel specializes in avocadoes how many avocadoes is it producing?   Oranges?

4)  If America wants to keep 50 bushels of oranges why would it not want to send more than 25 bushels of oranges to Israel?   If America sends Israel 25 bushels of oranges, how come Israel must send 75 bushels of avocadoes?

5)  What is the total number of oranges and avocadoes America ends up with after trade?

6)  What is the total number of oranges and avocadoes Israel ends up with after trade?

7)  How did trade achieve a previously unobtainable point on each nation’s PPC?
Part II Answer Recap:  
     U.S. should produce oranges


     Israel should produce avocadoes

	Country
	Opportunity Cost of Oranges
	Opportunity Cost of Avocadoes

	United States
	2 bushels of avocadoes
	½ bushels of oranges

	Israel
	4 bushels of avocadoes
	¼ bushels of oranges


Now, 

1)  what is the range in terms of trade for the United States?


2)  What is the range in terms of trade for Israel?
The answer will be U.S. sends one orange for a number between 2-4 bushels of avocadoes or
Israel sends a number between 2-4 bushels of avocadoes for one orange.  

Let’s see why:  


Looking at the American perspective and from the perspective of oranges for avocadoes since those are whole numbers and easier to work with.   The U.S. should produce oranges because it has the least opportunity cost.   If the U.S. specializes in oranges, that means it won’t be producing avocadoes.   So, if it is going to give up avocadoes it will want 2 or more avocadoes because that is what it can normally produce.  It will not want to trade for less because that would be less than it can produce on its own, so why bother trading?      

However, Israel would not want to send 4 or more avocadoes because that is above Israel’s opportunity cost – if the U.S. wants 5 avocadoes, Israel may as well just make the avocadoes itself since it is giving up more than its opportunity cost.   

So, the two will agree to trade one orange for a number between 2-4 avocadoes.    

 (terms of trade are always inside the range of the opportunity costs (mathematically; setting up an inequality).  :   it can’t go outside of the opportunity costs (countries wouldn’t want to trade past or below a certain point if it no longer becomes conducive to trade).  

*There is a wide range of solutions depending on the agreed-to terms of trade and the willingness to trade specific amounts of the commodities.   

